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QUESTION 1

In Financials, you want to see asset related expenses such as depreciation, amortization, and insurance.
Which describes the steps you can take to set this up? (Choose the best answer.)

A. Set up the Equipment Expense Reporting Capex data map to map asset related expenses to Financials.

B. On the Configure page for Capital, select the option to map Capital accounts to financial accounts. Then for each
Capital account, select a financial account to map to.

C. On the Configure page for Financials, when enabling features, include a custom dimension to store asset related
information.

D. On the Configure page for Financials, select Asset Accounts to set up the accounts from Capital that map to
Financials.

Correct Answer: B

Reference: https://docs.oracle.com/en/cloud/saas/planning-budgeting-
cloud/epbca/GUID-71622AFDC1F0-4D40-A36F-85FA8AA305B6.pdf (8-6)

QUESTION 2

Which two methods can be used to push data between cubes? (Choose two.)
A. Data Management

B. Import Data

C. Data Maps

D. Copy Data

Correct Answer: AC

Reference: https://docs.oracle.com/en/cloud/saas/planning-budgeting-cloud/pfusa/push_dat.html

QUESTION 3

What are the two primary use cases for an ASO reporting cube? (Choose two.)

A. You want to create and execute Calculation Manager business rules

B. You want to report on Smart Lists in Planning, which you can\\'t do in Planning

C. You want to report on new Planning data originating from any source, such as a data warehouse
D. You want to create, maintain, and report on Attribute dimensions

Correct Answer: BD
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QUESTION 4
If you choose to create your own chart of accounts in Financials, which four statements are TRUE? (Choose four.)

A. Predefined drivers and the chart of accounts you brought in can co-exist within the Account dimension member
outline.

B. You enable base or parent features to create an account structure with key members for you to add your own chart of
accounts.

C. You cannot reuse existing integrated financial statements and must design your own financial statements that include
the accounts you imported.

D. You do not need to enable base or parent features, and instead import the metadata directly into the Financials
cube.

E. You can perform calculations using existing rules, and plan using existing forms and dashboards.
F. You input or import your own accounts for each enabled feature.

Correct Answer: BCEF

QUESTION 5

After loading Workforce data from external systems, which two statements describe actions you can take to process
Workforce data? (Choose two.)

A. If an existing employee was omitted from the load file, you can add that existing employee in Workforce. Then assign
properties and compensation options for that employee.

B. To calculate updated compensation data after changing benefit options and rates from the loaded file, first change
the benefit options and rates in Workforce and then run the Calculate Compensation

business rule.

C. If an existing employee was not loaded from the load file, you won\\'t be able to add their compensation information
before first adding them to the source system and reloading the file.

D. Because you cannot override loaded default assignments in Workforce, change the defaults in the load file and
reload it.

E. To override loaded default assignments, change them in Workforce. After saving your changes, updated
compensation data is calculated.

Correct Answer: BD
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